Lecture Notes (Italics = Handouts)

Inference About a Difference in Proportions

Two Independent Samples

Sections 10.2 and 11.2
Assumptions: 
Independent SRS’s from two populations.

  (page 500)
Each population is at least 20 times as large as the sample drawn from it


The individuals in each sample are divided into two categories.


Both samples contain at least 10 individuals in each category.

Our estimator of p1 – p2 is 
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Since when our assumptions are satisfied both 
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and since the p’s are unknown we use 

SE = 
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For a CI for p1 – p2 (pg. 501)


As usual, (pt. est) ± z* SE
Hypothesis test for H0: p1 – p2 = 0 (pg. 535)


Since we are assuming that p1 = p2 we use a “pooled estimate” of the common proportion
of p, 
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now SE = 
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And our test statistic is


z = 
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If we are testing H0: p1 – p2 = (0 

z = 
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  SE = 
[image: image13.wmf]1122

12

ˆˆˆˆ

(1)(1)

pppp

nn

--

+

  (Minitab can do this but not your calculator.

(Difference in proportions (Navidi))

All computations can be done using TESTs on your calculator

Section 10.2: Exercises: 1 – 7, 9, 17
Section 11.2: Exercises: 1 – 7, 9, 12
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